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Alexandrium: 120
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AEMR | KE| B Alexandrium Dinophysis H=E
D. fortii D. acuminata Z DD Dinophysis

Ok 9.24 | 32.30 160 30 20 0
[2]537::] 7.35 | 32.32 120 40 20 30 |D. infundibula: 30
R=ViR 7.86 | 32.45 10 0 20 40 |D. infundibula: 20, D. norvegica: 20
| @2 3 7.26 | 32.50 0 0 0 10 [D. infundibula: 10, D. norvegica: 10
BGOXEHEF | 7.73 | 3260 10 0 30 10 |D. norvegica: 10
(OF:2;:] 8.06 | 32.51 0 0 0 30 |D. norvegica: 30
DES 6.85 | 32.57 0 0 0 20 [D. norvegica: 20
B E 6.80 |- 0 0 0 25 |D. norvegica: 25
QFE 7.00 |- 0 0 0 30 | D_norvegica: 30
AR 7.60 |- 0 0 20 130 |D. infundibula: 40, D. norvegica: 90
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FER Alexandrium (¥R %%/L)
" DA |(QfFE |-V |@5#15 |Oxasr (O8E |OESE |[@FE |OFE |[OXR
3A17H 210 0 0 0 10 10 0 0 0 0
3824~25H 90 0 0 0 0 0 0 0 0 0
3H31H~481H 0 0 0 - 0 0 - 0 0 0
4H9H 0 0 0 0 0 0 0 0 0 0
4H14~15H8 10 0 0 0 0 0 0 0 0 0
4H21~228 0 0 0 0 0 0 0 0 0 0
4H27~28H 0 0 0 0 0 0 0 0 0 0
5H86~8H 320 0 0 0 0 0 0 0 0 0
5812H 160 120 10 0 10 0 0 0 0 0
EER D. fortii ($ARa%/L)
" DR |QfFEH (O=ViR |@&EH#15 |Oxsur [O©FHR |OEE |@FE |OFE |OKXR
3817H 0 0 0 0 0 0 0 0 0 0
3824~25H 0 0 0 0 0 0 0 0 0 0
3H31H~481H 0 0 0 = 0 0 = 0 0 0
4H9H 0 0 0 0 0 0 0 0 0 0
4H14~15H 0 0 0 0 0 0 0 0 0 0
4H21~22H 0 0 0 0 0 0 0 0 0 0
4H27~28H 20 10 0 0 0 0 0 0 0 0
586~8H 0 0 10 0 0 0 0 0 0 30
5812H 30 40 0 0 0 0 0 0 0 0
. D. acuminata (RE%L/L)
xR |08#R [@=vi [@&#5 [Oxrass (OB |[DEE [@EFE |9OFAE [OXR
3A17H 420 10 0 0 10 0 0 0 0 0
3824~25H 400 0 0 0 0 0 0 0 0 0
3H31H~4A81H 680 0 0 = 0 0 - 0 0 0
489H 70 0 0 0 0 0 10 0 0 0
4H14~15H 50 0 10 0 0 0 0 0 0 0
4H21~22H 170 0 40 10 20 0 50 0 80 0
4H27~28H 610 20 0 10 10 0 10 0 0 0
586~8H 50 10 0 10 0 0 0 0 0 0
5812H 20 20 20 0 30 0 0 0 0 20




